12.5.2.3 Komruieke sa3bIKTHIKTa Kypaeii emec (Mbicansl, Rez>a, Imz>a, |z — zy| < a, arg (z —
Zp)=a) TeHJIIKTep MEH TEHCI3/IKTep apKbLIbl OEPIreH HYKTENIEp )KUBIHBIH OcitHeney)

1 For each of parts (i) to (viii), draw an Argand diagram showing the set of points
z for which the given condition is true.

M |z|=2 (i) |z—4|<3
(iii) |z—5i|=6 iv)] |z+3-4i|<5
v) |6—1—2z|=2 (vi) |z+2+4i|=0
ii) 2<|z—-1+i|<3 (viii) Re(z) =-2

1 For each of parts (i) to (vi) draw an Argand diagram showing the set of points z
for which the given condition is true.

(i) argz=—§ (ii) arg(z—4i)=0
(iii) arg(z+3) = % (iv) arg(z+1+2i) = 3%
(v) arg(z—3+i)$—%t (vi) —Z}—t Sarg(z+5—3i)<%

20 On a single Argand diagram, shade the region representing the complex numbers
satisfying both of the following loci:

|z+1/<3 and -%nSarg:S n.

|-

21 Ha amarpamme Apraia HauepPTHTE ICKH3 TEOMETPHYECKOTO MECTA TOYEK, 3a1aHHbIX
pasencTBoM |Z—3+31|=3.

1 Ha anarpamme Aprana n3o0pazuTe KOMIUICKCHBIC YHCIIA, YIOBJICTBOPAIOIIHE

CICAYIOUIHM YCIIOBHAM:
Re(z) 21 u |z-2i|<2.

2 (a) Ha oaxoit anarpamme Aprasa 3ammpuxyiite 001acTb, NpeaCcTaBasONLy
KOMILICKCHBIE YHCIa, KOTOPBIE Y/I0BJIETBOPAIOT 000HM YCIOBHAM

Re(z) <5 u -~ <arg(z) < .
e(z) H s arg(z) =

(b) Haiiznte MakCHMaIbHO BO3MOKHOE 3HAYCHHE |2 /U1 KOMILICKCHBIX YHCE

Z, ISKALUMX B 3aIUTPHXOBAHHOM 0o0nacTi B yacTu (a).



2 Ha pamarpamme Aprasa H300pasuTe KOMIUICKCHBIC HHCAA, YAOBJICTBOPAIOUIHE
CJICAYIOIHM YCIIOBHAM:

2<|z-2+31]<3 u Im(z)>-5.

12.1.2.3 xoMIIIeKC CaHIbl TPUTOHOMETPHSIIBIK TYPIE KOPCETY;

IIpumep 1. Ilepeiitu ot anredpanveckoi 3amucu KOM-
[UIEKCHOTO 4HUClIa K TPUIOHOMETPUYECKOW 3alluCH, OIpejie-

JIUTh MOAYJIb U ApIyMEHT:
a) z=-1+i

0) z= V3 +i
IIpumep 2. KoMninekcHoe YUCII0

T .. T
z=2 COS(—ZJHSIH(—Z) NpeICTaBUTh B aireod-

panueckoit popme.

Anredopanueckasi | TpuronomMerpuveckasi

(opMma z (opMma z
3+4i

-4 +3i
-5-6i
4-5i

12.1.2.5 TpuroHOMeTpHUSUIBIK TYpAe OepiliTeH KOMITICKC CaHIapFa apu(pMEeTHKAIIBIK amaliap
KOJIJIaHy

Mbeicana 1. AManaapabl OpbIHIAHbI3:
a)3 (cosz +i sinE) -2 (cosi +i sini) :
5 5 20 20

3w . . 3m 7T . . IT
b)2(cos?+lsm?).\/f(ws%+lsm%).



13 KommniekcHbIe YHCIa Z M W 3a/1aHbl B TPHTOHOMETPHYECKOH (opme
1 oz 1 | s a1
:=Zcosglr+llsmglz’ H w=3cos—m+31sm—r.

HaiiauTe KOMILICKCHOE YHCIIO ZW B Tle”OllOMCTpH'-lCCKOﬁ (bOpMC.

Tonmuik scymoic: Amanoapovt opviHOaAHbI3:
034.29. a) 6[00:;E + i sin -?‘1) - -l-[oos(-ﬁ] + i gin(-l‘.]}
3 3 3 6 6

n n
6) (-5 - 5i) - (oos: + lsln:}

) 0.3(008 +isin(-—— ] zo(coe 2 +lsm

r)\/—( -+lsin ) (2+2\/—i)

Tr n
034.30. a) 8(008—+lsin12 4{008( z +tsm( 4)}

6) (10 + 10i) : (ﬁ(oos%“- + isin%)},

o () 1)) o) (3]
) 16(ooe(--;-)+ isin(-%)): (4 - 4/3).

Kavanrapbl:

34.29. a) 2i; 6) -5iv2; ) 3(V3 +i); 1) V3.

H
&Iﬂ

(5}

34.30. a) —J§ + i; 6) —5i; B) 40i; 1) \/..3, + i.

KynThIK KYMBIC:



O34iK }KyMbIC:

Convert to trigonometric form and compute. Write the final answer in standard form.

-2 —2i
1—i

12.1.2.7 TpUroHOMETPHSUIIBIK TYpAC OCpiIreH KOMIUIEKC CaH/Ibl AOPEXKEre IIbIFapy;

Ilpakmukanwik sncymoic:

Amanoapovt opviHOAHBI3:
36.7. a) (cos 15° + i sin 15°)%; B) (cos 75° + i sin 75°)'%
6) (cos 15° + i sin 15°)'%; ) (cos 75° + i sin 75°)'%,

36.10. a) (cos 10° + isin 10°)%  B) (cos 10° + i sin 10°)*%;
6) (cos 10° — i sin 10°)®; ) (cos 80° — i sin 80°) 2,
5 5
36.13. 2) (1 + iv3) + (1 - iV3)'; 8) W3 +i) +(VB-1);
2

2
.. . n (o T, T
) 161(3m§ —icos 5) ) 32l(sm 6 + i cos 6)

> r

4 5
(J§ + i) (\/—5 - i)
12 nt( .. 3m . . 3r ),
36.14. a) Bruiuucaure z°°, eciu 2 = 2 cos§(sm-4— + i + icos T)’
6) BeIYMCANATE 2°°, ecIU Zz = 2sin%(l - cos%’t + isin %}

Kavanrapsbl:

8) 64 (V3 + i); 1) -512i. 36.10. a) —i; 6) 0,5(v3 + i); B) —0,5(1 + iV/3);
r) 1. 36.11. a) —%; 6) %‘i; B) §1§ i; 1) —1—()-1271-. 36.12. a) —0,125; 6) 2° (1 + iv/3);

B) 2°(—/3 + i); 1) 2°i. 36.13. a) 128; 6) —i; B) -32V3; r) 1. 36.14. a) —64i; ) ;

KynmneH ;kymsbic:

Convert to trigonometric form and compute. Write the final answer in standard form.



(1+D°

23 The complex number z is defined by z =1+1. Itis given that » is a positive integer.
Given also that z” is a real number, what can you deduce about the value of n?

22 Hcnonw3zosanue TeopeMsl Myaspa NpHBOAHT K TOKIECTBY
cos68 =cos’f —kcos'Osin*f + k cos* @ sin’ - sin®H .
Haiiaure 3HaueHHe NOCTOAHHOIO YHucaa k.

12.1.2.10 TpUrOHOMETPUSIIBIK TYP/E YCHIHBUIFAH KOMIUIEKC CaHJIbl n -1l A3peskei TyOipaeH
HIbIFapy (OPMYJIAChIH KOPTHII IIBIFAPY JKOHE KOJJIAHY;

TN >
22 JlaHOo KOMIUIEKCHOE HHCI0 w = 9(cos 37r+ smN ). OIMH W3 KBAJIPATHBIX KOPHEH W

1 i v 1 & u
paBeH 3(cos Y + nsmgrr ). Beipasure Apyroii KBaJpaTHelif KOpeHb W B BHJIC

r(cosg +ising ), rner>0u0<p <2r.

72 =—8+8i\/3 ) ,
KOMIUIEKC CaHbIHBIH OapiblK TYOIpsiepiH Taybll, ApraH AuarpaMMachiHa

OeitHeneHis.

8. z3 = 64 KOMIUIEKC CaHBIHBIH OapiIbIK TYOIpJIepiH Taybll, Apran JuarpaMMachiHa

OeitHeneHis.
9. z% = 160 KOMITJIEKC CAHBIHBIH TYOIpJIepiHiH KOCBIHABICHIH TaOBIHBI3.

10. z3 = 8i xommeKc caHBIHBIH OapIbIK TYOIpIEepiH Tayblln, ApraH quarpaMMachiHa

OeliHeeHI3



12.1.1.8 xepceTKILTIK TypAe OepilireH caH bl alnredpaiblK Type a3y *KoHe KepICIHIIIE;

Nel

: ; 2 ; i
(a) Showing all necessary working, express the complex number 1 +Ai in the form re'®, where r> 0

and -7 < 6 < &. Give the values of r and 8 correct to 3 significant figures. [5]
Ne2
! 9Y3+9i . 3
The complex number z is defined by z = et Find. showing all your working,
(i) an expression for z in the form re'®, where 7 > Oand - < 6 < 7, [5]

(ii) the two square roots of z, giving your answers in the form 7e¢'®, where 7 >0and -r <0< x. [3]



